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Solve each equation. Check your answers.
1.s-8=12 2.v-11 =7

3.9=g-5 4. m-21=5

5.34=x-12 6. n- 45=45

7. t- 19=9 8. p- 6=27

9. 15: v- 68

Solve each equation. Gheck your answers.
10.7 =trt-5 11. r-10=22

13.40:p-11 14.28=d-6

16.q-85=8 17.f-13:18

19. Ted took 17 pictures at the aquarium.
He now has 7 pictures left on the
roll. Write and solve a subtraction
equation to find out how many photos
Ted had when he went to the
aquarium.

Date

12. 16=X-4

15. n-9=42

18. 47 = w- 38

20. Ted bought a dolphin poster for $12.
He now has $5. Write and solve
a subtraction equation to find out
how much money Ted took to the
aquarium.
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Prohlem Solvin -

Write and solve subtraction equations to answer the questions.

4.3.

1. Dr. Felix Hoffman invented aspirin in

1899. That was 29 years before
Alexander Fleming invented penicillin.
When was penicillin invented?

Kansas and North Dakota are the toP

wheat-producing states. ln 2000,
North Dakota produced 314 million
bushels of wheat, which was
34 million bushels less than Kansas
produced. How much wheat did
Kansas farmers grow in 2000?

Gircle the letter of the correct answer.

5. The spine-tailed swift and the frigate
bird are the two fastest birds on earth.
A frigate bird can fly 95 miles Per
hour, which is 11 miles per hour
slower than a spine-tailed swift. How
fast can a spine-tailed swift flY?

A 84 miles per hour

B 101 miles per hour

C 106 miles per hour

D 116 miles per hour

7. The Rocky Mountains extend
3,750 miles across North America.
That is 750 miles shorter than
the Andes Mountains in

South America. How long are
the Andes Mountains?

A 3,000 miles

B 5 miles

C 180 miles

D 4,500 miles

2. Kimberly was born on February 2.

That is 10 days earlier than Kent's
birthday. When is Kent's birthdaY?

Scientists assign every element an

atomic number, which is the number
of protons in the nucleus of that
element. The atomic number of silver
is 47, which is 32 less than the
atomic number of gold. How manY
protons are in the nucleus of gold?

The Green Bay Packers and the
Kansas City Chiefs played in the first
Super Bowl in 1967. The Chiefs lost
by 25 points, with a final score of 10.

How many points did the Packers
score in the first Super Bowl?

F35
G25
H15
JO

When the United States took its first
census in 1790, only 4 million people

lived here. That was 288 million fewer
people than the population in 2003.
What was the population of the United
States in 2003?

F 292 million

G 284 million

H 69 million

J 1,108 million
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